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�� ا��
	ر�� ���� � ��g 10N kg/=  

 �����1   
 	
�� �����A ����آ ، 	���� m 2kg= ر��
�ا%� $#��"!  �� ا�$ &��
(� �� أن ��Oz

�
 ��
� ا. �� و$,رج *	��� ���
  .  ا�

1 	1*���! أ��� !����$ !�	�z ــ ���� آ 2= .  3�4�� !��	��ا%� ا��	��! Aأ8�9 7	6! ا��%� ا�5
  :   :, ا�
 

1Az  و =6
2Az 4= −  

z:  ــ ���� آ�	�! $����! ا�:��! ذات ا.���ب 2 1= − . 3�4�� !��	��اAأ8�9 7	6! ا��%� ا�5
  : %� ا��	��!   :, ا�

A1 A2 A3z 6 z 4 z 9, ,= = − =  

 �����2   
 @�5$ 	:���AHB �� !او�A�3 اB	6 H ��C�واAH ��  . أ��E ا�D(& . أ�

 �C�AB a= و �BAH = α .   
3 ���� آ���� ��m ��  !�9آ ��AB .  �)��M أن @���%� ا�3�4 *$

AM d= .  
 !�F,* 3�4�� !��	�gأ ����G H 7	6! ا��%� ا�5 a d m, , , ,α !�	�  :, ا���	ر ا�

�
  : ���! ��	6! ا��%� ا�5�	��! ه� ا�
1 !��   H ــ ا�:
2 !��  B ــ ا�:
3 !��  A ــ ا�:

 �����3   
mآ�ة آ���1	  20g= 	1 	�Lو R 10cm= قFA�9ج *,ون ا�,�G  &B	$ ى���$ �� 

A*30αاو�!  = ° ���ى ا.���
�� !��:�	*  .  
1 A4:G 	$,:  ة�)�� !��	���1	 (  دورات 9�ل �"�1	 6 ــ أ��OG 8�9 7	6! ا��%� ا�5T Aآ�$ �$ �
�ر ا��ي ��
9�ل ا� (  
   ــ ه& ��OG 7	6! ا��%� ا�5�	��! ��(�ة 2

  ,ورات ا�
:A4ة $� 1��7	 ؟ ـــ دا�! WG�"�! *	�:��! ��,د ا�
 �$A�� !��:�	* !�"�WG !�ـــ داt لY� ق�O��
  ؟  .�9آ�1	 ا�

 �����4   
 �$ !��)

�5! �� ا�D(& �	��� وا�
� ! ا�
4
  : ����� ا�

�ر أ��� T	Z* (P)*(�ة ــ ��L ،  r	 1	∆ *]$(	�1	 ا�,وران 9�ل $ 5cm= مA و 
�ره	 ]6J∆  ر��
�� !��:�	* ∆   

)��H ــ   )f ل $�4ى ا��(�ة��ف 9"�$  . !�
  .�����` _�� $,ود وآ���� 1$

) ��3 ــ  )S ����آ m 0 5kg,= ى��ع  �� $��%�$ ( )π !او�A* &B	$ 

30α = ° ���ى ا.���
�� !��:�	*  H�#�� ��)و$�H�G *	���ف ا� )f .  

�ى ا�
	B& *,ون b���S !�B,* ! �c ا�3�4 ��
و����� �9آ! .  $� أ �� ���!  �� ا�
�ى ا�
	G &B�3 *,ون ا9�(	ك ��
  . ا�3�4  �� ا�

1 �����3 ����c e ! ا�3�4  :, $�ور` $� ا�:BY$ ز	1� !�cا��:B  ,4 و A ــ *
AVأن  0 5m s, BV و =/ 2 5m s, /= !�	�
AB وا� 62 5cm,=  

)���� ا�* &OD����b $��ه:! ا��	6! ا���آ�! أو�, G 1 ــ 1 )
A B
W F
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�
 ،F
�

�ة ا��� ����1	 ا�#�H  �� ا�3�4 �   . S ا�

) أ8�9 2 ــ 1 )
A B
W F
→

�
�ة �Fواc�:�L g,ة ا�
�

 .   

�ر 2]�)ة  ���(�∆J ــ 4�h	د �6
!  Aم ا� )P ر��
�م *	�,راc! ا������4! ا��	��! ∆ *	�:��! ����  : !�	�
��� ا�3�4 ا�� 	$,: 

AB !او�A* ور ا��(�ة,G ∆θ .   
   . AB و ا�
�	�! θ∆ أو�, ا��6Y! *�� ا�Aاو�! 1 ــ 2

) *����b $��ه:! ا��	6!  �� ا��(�ة 2 ــ 2 )P أن ��* 
2
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. . .
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−
   . ∆Jأ8�9  . 
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�ى ا�
	BC &B ا�A4ء  ــ �� ا��ا�6 أن3��
��@ �:�g  � ه G�* 3	9F�(	ك * �� ه�ا ا�A4ء�9آ! ا�3�4 أي أن  ��D  $� ا� `�
�j6 ا�3�4 G ت	آ	(�9FاS !��) C  :, ا�: )CV 0=   

�ى ا.��� ا�
	ر $� ������
ppE آ�	�! $����! ��	6! ا��%� ا�5�	��! A @�9 ا� 0=   

  .  *	 ��	ر ه�` ا��	�! ا�
����! S ��3�4  أ ����G H 7	6! ا��%� ا�5�	��!1 ــ 3
�	�! ا�
����! ا�
#�	رة   CF و ��OG B 7	6! ا��%� ا�5�	��! *��  *�� أن2 ــ 3�	* b���G .  
   . وا8�9 �6
��   .C إ�� S �$ B أو�, ��OG ا��	6! ا�
�(	��(�!  :, ا���	ل ا�3�4 3 ــ 3
�	ل اc�:�4g ــ 3��Fء ا	:T�9ارة أ &)L ��  دة��"
   .BC ا��	6! ا�
�6
! L,ة 6�ة ا9F�(	ك5 ــ 3 g�:�cء  اA4�ل ه�ا اY� !�*	T 	ه����� ��ا�  .   

 �����5   
 	1�
�ي 9��:! c,  �� آ
�! $� ا�
	ء  ��G15m 	1��c !9	�$21 و 5km,.  
�ر آ
�! ا�
	ء ���,  �� ارG"	ع ]6 Aآ�$h 2000m= ��  .  $� n�c ا��

��! ه�,روآ�1$ ,��G ع	"Gار �ا��, و � �$ !*��$ ��  !�B	*h 1200m′ = 3�Gو �� n�c �$ !��OG ا��
 !�B	*�1)�6! ا	ج ا��	��h ,��ء ا	
* !��
  . ا�

  .  ــ أ8�9 7	6! ا��%� ا�5�	��! ا�
#Aو�! �� $	ء ا��, *�, ا���	ر 9	�! $����! 1
���,  ــ أ��OG 8�9 7	6! ا��%� ا�5�	��! إذا ا ����	2G !���دة *	��, A:Gل *(	$�1	 إ�� $��
 أن آ��! ا�
	ء ا�

  . ا�(�1*	ء 
�[&  ��1	 *	�$ 8��]� !��:	�B ��	وي 3
310m ــ أ8�9 ا��,رة ا�(*�1	�B! ا� s( / إذا ا ����	 أن . (

75%B	*�16! آ	7 �ل إ����G ء	
  . �! $� ا��	6! ا�
#Aو�! �� ا�

 ���� :3 3
eau 10 kg m/ρ g و = 10N kg/=  

 �����6   
6	*�! ��,وران ، *,ون 1m=ℓ و7��1	 cm	ق $�4	��! آ���1	 
�ر �)ا9�(	ك ، 9�ل $ 
� $� أ9, 1���7	 ∆(� �� Aم . أ�

�ر�
�ر ا��	ق *	�:��! ��]6 ( )∆ �21: ه
J m

3∆ = ℓ .   

�A� !او�A* �cا��أ ����
�از�1	 ا�G �%�n ا��	ق  � $
60θ = ° ���� !�B,* ! �c *,ون 	ره��� 3T ppE 0= ,:  

z 0= .   

� $� أ8�9 ا��� ! ا�Aاو�! �G 	$,:  ق	ر ا���]6 Aآ�

 ����
�از�� ا�G �%�$ . !�	�L ����g,ة ا�5 10N kg/=  

 �����7   

	 ��Ooا آ���� �� �����m 0 5kg,= ق $,ار�� &��:� 

ABCD ���7 3���ن $� �Aء $��)�� AB 2m=$و ،  �
�L r	 � A�BCDء دا�Bي  0 5m,= .  ����60θ = ° .   

)���b ا�3�4  )S !��  .  *,ون A !�B,* ! �c $� ا�:

1 !�
  .  ــ ����� ا9F�(	آ	ت 1$
�%� S أو�, ����G ا��	6! ا�
�(	��(�! ��3�4 1 ــ 1
A !�F,* m �� ا� r, ,θ و g !�	�)أL  . 8�9,ة ا�5 )mE A .  ����

g 10N kg/=  
�%� S أ8�9 7	6! ا��%� ا�5�	��! وا��	6! ا���آ�! ��3�4 2 ــ 1
   . B �� ا�
3 ! �c 8�9ــ أ S�oو ,:   �%�
   . D�� إ�� ا�

�%� S ــ �� ا��ا�c �6 ! ا�3�4 2
�G 4	وي B �6 ا� 00m s, �ة /�� !p�	)$ 	ه����� ��ك ا�	(�9Fى ا�6 !4��� f
�

T	*�! و$:�	ه	 
�� �9آ! ا�3�4 :
� eآ	�$S .   

�دة  �� L(& �9ارة أT:	ء ا1F ــ 2�"
�	ل  أ8�9 ا��	6! ا���AB   

�ة 2 ــ 2�f أL 8�9,ة ا�
�

 .   


